Ne ApTUKYN HanmeHoBaHue Kon
1 Malika M8 6
2 |KC55-10 WapHup 1
3 Malika M8 1
4 |KC26-04A TAra 1
5 lalika M8 5
6 LWanba 8x22x2 4
7 MnactnHa 2
8 bont M8x55 4
9 bont M6x16 6
10 [KC30A-04A [Koxyx pemHA 1
11 OrpaHuyuTenb pemHs 1
12 |KC42A-03A (OdednekTop B cbope 1
13 |KC55-24 JlonaTka 1
14 |KC55-15 LWaiba 1
15 |KC26-11 Apantep 1
16 |KC26-14 LectepHa yepBAYHan 1
17 |KC26-12 Ban 1
18 [KC26-15 ApanTtep 1
19 Wrnot 3x18 2
20 |KC26-16 KpbiwKa 1
21 BMHT M6x16 2
22 |KC26-10A Kopnyc 1
23 bont M8x16 3
24 lanka 3
25 LWalba 2
26 MnactnHa 1
27 MpyXunHa 1
28 |4LXP945 PemeHb 4LXP945 1
29 Bont M8x20 2
30 LWaiba 1
31 [epxKarenb 2
Mogenb
CHeroybopuuk ST1176LET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




/1
/]

Ne ApTUKYN HanmeHoBaHue Kon
1 |KC30-03C-01R |Pyyka npasasn 1
2 |KC30-03-02 (MaHenb ynpaBneHua 1
3 Manka M8 10
4 [KC30-03-44R [KpoHLWTENH ponurKa 1
5 bont M8x40 4
6 bont M6x20 2
7 |KC21-02-2 BTynka 2
8 |KC40-28 Ponuk 2
9 |KCA28-04-03 |depkaTennb pyyku 2
10 bont M8x45 2
11 |KC30-03-49 ([Tpocuk 2
12 Bbont M8x35 2
13 WnauHT 1.5%25 4
14 |KC30-03-09 [Pblvar xoga 1
15 larika M10 2
16 |KC30-03-2(M4) [PykoATKa pe3nHoBas 2
17 |KC30-03-11GGP [Pblyar ynpaBaeHus 1
18 laiika M8 4
19 [KC30-03-45 ([Mpy*knHa 2
20 [KCA28-04-14 |Ban npaBbi 1
21 |KCA28-04-04 |Pyuyka npaBasn 1
22 [KC55-03-15 |LWaiba 2
23 Lainba 2
24 Bont M8x150 1
25 |KCA28-04-17 |Cronop 1
26 |KC30-03-50 |WnanHT 2
27 |KCA28-04-16 |Ban 1
28 |KC55-03-11 |[[Mpy»KunHa 1
29 BuHT M8x60 1
30 |KCA28-04-08 |Ban pbiyara 1
31 3aknenka 4x10 4
Mogenb
CHeroybopuuk ST1176LET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




/1
/]

Ne ApTUKYN HanmeHoBaHue Kon
32 |KC90-04-04A |PyKoAaTKa c nogorpesom 2
33 [KCA28-04-10 |Pbiuar nesblii 1
34 bont M6 6
35 |KC55-03-05-6 |BTysika 2
36 [KC30-03-14 |MpoBoaa 1
37 |ASW-07D Bbikntouatenb 2
38 |KC30A-05-4 |TpocuK KO3bIpbKa 1
39 |KCD26-06-2 |[MpyxnHa 1
40 |KC30-03-44L |KpoHLWTEMH ponnKa 1
41 BuHT M5x35 2
42 |KC30-03-08 [Pbiuar BkA. anddepeHumana 1
43 Marika M6 1
44 LWaiba 6 1
45 bont 1
46 |KC30-03-05 |[KpoHLWTeMH pblyara 1
47 [KC30-02-06B [Tpocuk guddepeHumana 1
48 |KC30-03-32 |Pyuka 1
49 [KC30-03-31 (lWanba pesnHoBas 10
50 |[KC30-03-23 |OdeprkaTenb 1
51 |KC30-03C-01L|Py4yka neBas 1
52 |KC30-03-22B |MpuBopg gednektopa 2
53 BuHT M6%10 2
54 [KC30-03-24 |Waiiba 6 2
55 [KC30-03-24 [MaHenb 1
56 bont M6x16 2
57 |[KC30-03-26 |[KpblwKa 1
58 Maka M6 2
59 |KC21-03-15 |[PoHapb LED 1
60 BuHT ST3.5%16F 2
Mogenb
CHeroybopuuk ST1176LET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 3




Ne ApTUKYN HanmeHoBaHue Kon
1 |KC90-02-21A |Pyuka 1
2 MnacTnHa pyykn 2
3 Bont M10x45 1
4 bont M6x12 4
5 Ban 2
6 KpblwKa 1
7 bont M6x20 1
8 KpOoHLWTEeNH ponunka 1
9 BTynka 1
10 [KC21-02C-01 |[Tpocuk 1
11 |KC40-28 Ponuk 1
12 laiika M6 1
13 [leTtanb coegnHUTENbHAA 4
14 bont M8x20 4
15 bont M8x40 4
16 LWalba 4
17 |KC21-02C-03 [OcHoBaHue asuratens 1
18 Maiika M8 4
19 |LC185FDS LBuratenb Loncin LC180FDS 1
20 |3LXP870 PemeHb 3LXP870 1
21 |KC30A-02-03 |Wkus 1
22 LWalba 4
23 |KC90-02-16 |Wkus 1
24 LWanba 1
25 Bont 5/16-24x1 1/4 1
26 |KC30A-02-04A|Kopnyc TpaHCcMmMccum 1
27 bont M6x20 2
28 |KC30-02-12 |HakOHe4HMK 1
29 |KC90-02-07 |[BTynKa nnacTtukosas 2
30 KpblwKa 1
31 |KC55-02-05 |[Tdra 1
Mogenb
CHeroybopuuk ST1176LET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 4




ApTUKYN

HanmeHoBaHue

Kon

32

bont M6x16

=
w

33

KC30A-02-05

Kopnyc nogwnnHuKa

34

90-0415

MogwunnHmk 6200

35

KonbLo ctonopHoe

36

KC21-02-13

MogwnnHuk

37

KC30A-02-06

BTynka 15x20x15

38

KC21-02-12B

[ep:Katenb gucka GpUKLMOHHOIO

39

KC30A-02-07

LWecTepHa

40

KC21-02-11A

LMCK GPUKLMOHHDBIN

41

KC30A-02-08

BTynka 15x20x15

42

KC55-29

Cronop

43

KC30A-02-9

Ban wecTurpaHHbIi

44

KC30A-02-10-2

Ban npomeKyTouHbIM

45

KC30A-02T-3

3Be3a04Ka 60bluas

46

KC30A-02-11

3Be3404Ka Manas

47

KC30A-02-12

BTynka 12x15x8

48

085-32

LUenb 085-32

49

KC30-02-16A

BTynka

50

Bont M8x16

51

KC90-02-11

Kopnyc noawmnnHuKa

52

laika M8

53

90-0460

MogwwnnHuk 6205

54

KC30A-02-14

BTynka 25x34x16

55

KC30A-02-15

OuddepeHunan B cbope

56

KC30A-02-16

Ban

57

LLInoHKa 6x4x45

58

KC30A-02-17

BTynka 6poH30Bas

59

KC30A-02-18

Bunka

60

KC30-02-07

Xpanosuk

61

KC30-02-05

MpyxunHa

62

KC30-02-06B

Tpocuk anddepeHupyana

[N NN N TN PN [ S PN PN T= N [ O N I S N S P e e e L e R Y N Y ISR TSN =Y = N T N

CHeroybopLmK

Mogenb

ST1176LET

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

P

age 5




Ne ApTUKYN HanmeHoBaHue

Kon

63 |KC30A-02-19 |Btysnka 6poH30Bas

64 [KC30A-02-20 |Ban

65 |KC30A-02-31 |HakoHe4HUK

66 LWaiba 12

67 Wariba 12

68 [KC21-02C-09 |dukcaTtop

69 Bont M8x30

70 [KC55-02-21A |Poauk HaTaxutens

71 KpOHLWTENH HaTaKuTens
72 bont M8x45

73 |KC30A-02A-5 |KpoHWTENH HaTAXuTens

74 |KC55-01-24 |BTtynka

75 |KC55-01-27 |PonuK Hatsxutena

RIN[R|R[RrIMIVIW R |R[RIR|R[RRPIR|IR[R]IR|[R]|R|R ]|~

76 LWainba
77 |[KC21-02C-1 |Wkwus
78 bont M6x20
79 |KC90-02-12 |Kopnyc noalwmnHMKa
80 |90-0430 NogwunnHuk 6002
81 |KC90-02-15 |MpyuMHaA HaTAXKMKTENA
82 KpOHLUTENH LWIKKNBA
83 BTynka 13x20x20
84 bont M8x16
85 Malika M12
86 |KC21-02C-12 |MpyXMHA HaTAXKMTENA
87 3aknenka 4x12 2
88 MnactuHa 1
Mogenb
CHeroybopuuk ST1176LET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




Ne ApTUKYN HanmeHoBaHue Kon
1 KpoHLWTENH neBblit 1
2 KpoHLWTENH NpaBbliii 1
3 Ban nepeaHui 1
4 Bont M6x16 14
5 laiika M6 14
6 |KC90-03-04 ([BTynka

7 |KC90-03-05 [LWarba

8 |KC90-03-06 [Ponuk manbiin

9 |KC90-03-24 |BTynKa

10 |6004-2RS MogwnnHuk 6004-2RS

11 LWanba

12 LWanba

13 bont M8x16

14 [XL-A lNyceHnua

15 [KC90-03-07 [3arkmm

16 [KC90-03-08A [Ponuk 6onblioi

DN INININIR[ININIR[INIRININIOINININ|(O |||~

17 laka M8
18 |90-0460 MogwnnHuk 6205-2RS
19 [KC90-02-11 [Kopnyc nogwunHuKa
20 MnactnHa nesasn
21 Bont M10x45
22 Mepanb
23 Lepxxatenb
24 LWalba
25 Ban 3agHui
26 bont M10x70
27 BTynka
28 BTynka
29 |KC90-02-07 |[BTynka nnactukosas
30 BTtynka
31 laiika M10
Mogenb
CHeroybopuuk ST1176LET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 7




Ne ApTUKYN HanmeHoBaHue Kon
32 |[KC90-03-15 |[Mpy*KuHa 2
33 Maka M8 6
34 bont M8x18 6
35 MnactnHa npasan 1
36 |KC90-03-20 |Ckpebok 2
37 |KC90-03-21 |KpoHwTenH 1
38 |KC90-03-23 |KpoHwTenH 1
39 [KC90-03-22 |Ckpebok 2
40 bont M8x20 2
Mogenb
CHeroybopuuk ST1176LET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 8




ApTUKYN HanmeHoBaHue Kon
KCA30-01-01A |Oeka 1
KC42-01-02 |M0on1030K NAacTUKOBbIN 2

LWaiba 6
Malika M8 19
KCA34-01-10 |[M0n1030K MeTananYecKkuis
Maiika M8
KC30-01-02 [MnactuHa aekun
bont M8x16
bont M8x18
KC42-01-05A |KpbiwkKa noawmnHmKa
SB205 MogwwnnHuk SB205
KC42-01-04A |Kopnyc noglwmnHmKa

KCA30-01-02A

LLIHek npasbiit

Bont M6x20

KCA34-01-25

BTynKa coegnHuTenbHaA

KCA34-01-02A

BTynka

Bont M8x45

KCA34-01-05

PeaykTtop

laka M6

LWanba

KCA34-01-06A

KpblnbyaTka

Bont M6x40

bont M6x30

KCA34-01-07R

KpoHLWTENH NpaBblIii

KCA34-01-07L

KpOHLUTENH NeBbIi

KCA30-01-03A

LLHeK neBbin

LLlan6a

Bonat M8x20

Bont M8x25

BuHT ST4.2%9.5-F

R INIEAININIR|IRPIRININIRIA|IDIRINIDININIRINININ|IOOD|O|R|O]|N

KC55-01-21 |deprkatenb onaTku
Mogenb
CHeroy6opmK
yoopt ST1176LET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 9




ApTUKYN

HanmeHoBaHue

Kon

35

KC42-01-20

Kopnyc nogwnnHuKa

36

SB204

MogwwnnHuk SB204

37

KC42-01-22

LLKuB

38

LWaiba

39

Bont M10x25

40

LnoHKa 6x20

41

KCA34-01-09

LLaba nnacTtukosasn

47

KCA34-01-14

BTysnKa pe3nHoBan

48

KCA34-01-15

KonbLo aepnektopa HUKHee

49

KCA34-01-16

Konbuo aedsiekropa meTtanimyeckoe

50

KCA34-01-17

dukcatop aedpaekTopa HUKHUN

51

KCA34-01-18

dukcatop aedpaekTopa BEpPXHUMN

52

Bont M8x25

53

KCA34-01-19

KonbLo ynaoTHUTENbHOE

54

KCA30-01-05

Ban

RIkrlwlRr|[Rr|Rr[,RlW[N]R[R]R R~

CHeroybopLmK

Mogenb

ST1176LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 10




Ne ApTUKYN HanmeHoBaHue Kon
1 |KCA34-01-05-01 |Kopnyc npasbiit 1
2 bont M10x15 1
3 CanbHukK 25x40x7 2
4 [90-0460 MogwnnHuk 6205 2
5 |KCA30-01-05 |Ban 1
6 [90-0404 MogwnnHmk 6202 1
7 |KCA34-01-05-03 |Mpoknagxa 1
8 |KCA34-01-05-04 |LLIecTepHs 1
9 LLnoHKa 8x25 1
10 [KCA34-01-05-05 |Kopnyc nieBbiit 1
11 bont M6x25 6
12 |KCA34-01-05-06 (Ban 4yepBAYHbIN 1
13 |KCA34-01-05-07 |BTy/Ka 1
14 |BE-51104 MoawwnnHuk 51104 1
15 |90-0419 MoawnnHmk 6004 1
16 CanbHuK 20x35x7 1
17 Kopnyc 1
18 Mpy*nHa 1
19 LWaiba 1
20 |KC30A-05-2 [Mpy»*unHa 1
21 [KC30A-05-4A |Tpoc 1
23 |KC30A-05-3 (Tara 1
29 Kosbipek 1
30 LWalba 1
31 |KC42A-03-4 |PeweTKa 3awWwmTHas 1
32 LWalba 1
33 WnanHt 1
Mogenb
CHeroybopuuk ST1176LET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 11




